Title: Country Hills Drive Soundwall Replacement in Antioch, CA (P.W. 561-3)

Bids to be received by 2:00 PM January 23, 2024
Office of the City Clerk,
City Hall, Antioch, CA

# SCHEDULE OF BID PRICES REVISION 1

Item No.	Unit	Quantity	Description	Unit Price Extended Amount
1.	LS	1	Mobilization, Demobilization and Final Cleanup, complete in place for the lump sum price	\$ 25,000.00 <b>\$ 25,000.00</b>
2.	LS	1	Storm Water Pollution Control Program, complete in place for the lump sum price	\$ 10,000.00 <b>\$</b> 10,000.00
3.	LS	1	Erosion Control, complete in place for the lump sum price	\$ 10,000.00 <b>\$</b> 10,000.00
4.	LS	1	Construction Signage, complete in place for the lump sum price	\$ 10,000.00 <b>\$</b> 10,000.00
5.	LS	1 .	Temporary Protection Fence with Privacy Fabric, complete in place for the lump sum price	\$ 75,000.00 <b>\$</b> 75,000.00
6,	LS	1	Traffic Control System, complete in place for the lump sum price	\$ 20,000.00 <b>\$ 20,000.00</b>
7.	LS	1	Clearing and Grubbing, complete in place for the lump sum price	\$ 20,000.00 \$ 20,000.00
8.	LS	1	Construction Surveying, complete in place for the lump sum price	\$ 35,000.00 \$ 35,000.00
9,	EA	13	Tree and Stump Removal, complete in place for unit price per each	\$ 3,000.00 <b>\$</b> 39,000.00
10.	LS	1	Earthwork, complete in place for the lump sum price	\$ 35,000.00 <sub>\$</sub> 35,000.00
11.	LS	1	Remove Existing Concrete Wall and Foundation, complete in place for the lump sum price	\$ 176,000.00 <b>\$</b> 176,000.00

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	LF	96	Property Fence Removal and Replacement, complete in place for the unit price per lineal foot	\$ 300.00	\$28,800.00
13.	LF	675	Soundwall, Footing and Cast-in-Drilled Holes Piles, complete in place for the unit price per lineal foot	\$ 380.00	\$ 256,500.00
14.	CY	50	Structural Backfill, complete in place for the unit price per cubic yard	\$ 500.00	\$ 25,000.00
15.	LS	1	As-Built Redlined Plans, complete in place for the lump sum price	\$ 2,000.00	<b>\$ 2,000.00</b>
			TOTAL BID PRICE	\$ 767,300.00	

TOTAL BID PRICE:_	Seven Hundred Sixty Seven T	housand Three Hundred Dollars
	(Written in Words)	

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

**B** and **D** Excavation and Construction

**Company Name Printed** 

### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. Associated Refor Inc.	574321	#1000d07283	Redlands, CA	Lebor - 1/5
2. Al Trucking SVS. Inc.		#1000711531	Oaklond, CA	Truckins - 1/4
3, Johnson Construction Inc.	466630	0110100001A	Gardena, (A	CM4 Block - %30
4.				
5.				
6.			-	
7.				
8.				
9.		4		
10.				
11.	e*			
12.	-			
13.		je.		
14.			T.	
15.				

Title: Country Hills Drive Soundwall Replacement in Antioch, CA (P.W. 561-3)

Bids to be received by 2:00 PM January 23, 2024 Office of the City Clerk, City Hall, Antioch, CA

### SCHEDULE OF BID PRICES REVISION 1

			U Company of the Comp		
Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, Demobilization and Final Cleanup, complete in place for the lump sum price	\$ 50,000.00	S0,000.00
2.	LS	. 1	Storm Water Pollution Control Program, complete in place for the lump sum price	\$ Z,500.00 \$	2,500.00
3.	LS	1	Erosion Control, complete in place for the lump sum price	\$ 2,500.00\$	Z,500.00
4.	LS	1	Construction Signage, complete in place for the lump sum price	\$3,000.00 \$	3,000.00
5.	LS	1	Temporary Protection Fence with Privacy Fabric, complete in place for the lump sum price	\$ 7,500.00 \$	7,500.00
6.	LS	1 -	Traffic Control System, complete in place for the lump sum price	\$ 20,000.00\$	20,000.00
7.	LS	1	Clearing and Grubbing, complete in place for the lump sum price	\$ 30,000.00 \$	30,000.00
8.	LS	1	Construction Surveying, complete in place for the lump sum price	\$750.00	\$750.00
9.	EA	13	Tree and Stump Removal, complete in place for unit price per each	\$ 1,000.00 \$	13,000.00
10.	LS	1 .	Earthwork, complete in place for the lump sum price	\$ 30,000.00\$	30,000.00
11.	LS	1	Remove Existing Concrete Wall and Foundation, complete in place for the lump sum price	\$ 70,000.00 \$	70,000.00

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	LF	96	Property Fence Removal and Replacement, complete in place for the unit price per lineal foot		
			on process of the same pro	\$500.00	\$ 48,000.00
13.	LF	675	Soundwall, Footing and Cast-in-Drilled Holes Piles, complete in place for the unit price per lineal foot	\$ 730.00	\$492,750.00
14.	CY	50	Structural Backfill, complete in place for the unit price per cubic yard	\$350.00	\$ 17,500.00
15.	LS	1	As-Built Redlined Plans, complete in place for the lump sum price		
				\$1,500.00	\$1,500.00

TOTAL BID PRICE \$ 789,000.00

TOTAL BID PRICE: Seven hundred eighty-nine thousand dollars (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. L. Johnson	06999h	10000010	bardena, CA.	Masorith Sondon
2. Pacific Coast	139855	1000001271	Sanla Rosa, CA.	Drilling 100%
3. P&J THEE Services	997659	1000026423	PHSburg	Tree Remual
4.			,	. 51
5.	,	é	-	
6,				
7.				
8.	J			
9.				
10.	2			
11.				
12.				
13.				
14.				
15.				

Title: Country Hills Drive Soundwall Replacement in Antioch, CA (P.W. 561-3)

Bids to be received by 2:00 PM January 23, 2024 Office of the City Clerk, City Hall, Antioch, CA

# SCHEDULE OF BID PRICES REVISION 1

Item No.	Unit	Quantity	Description	Unit Price Extended Amount
1,	LS	1	Mobilization, Demobilization and Final Cleanup, complete in place for the lump sum price	\$9,680.00 \$ 9,680.00
2.	ĻS	1	Storm Water Pollution Control Program, complete in place for the lump sum price	\$2,000.00 \$2,000.00
3,	LS	1	Erosion Control, complete in place for the lump sumprice	\$ 7,950.00 \$ 7,950.00
4.	L.S.	1	Construction Signage, complete in place for the lump sum price	\$6,300.00 \$6,300.00
5.	LS	1	Temporary Protection Fence with Privacy Fabric, complete in place for the lump sum price	\$10,200.00 \$10,200.00
6.	LS	1 .	Traffic Control System, complete in place for the lump sum price	\$ 2,000.00 \$ 2,000.00
7,	LS	1	Clearing and Grubbing, complete in place for the lump sum price	\$11,020.00 \$ 11,020.00
8.	LS	1	Construction Surveying, complete in place for the lump sum price	\$8,000.00 \$8,000.00
9.	EA	13	Tree and Stump Removal, complete in place for unit price per each	\$3,692.31 \$48,000.00
10.	LS	1	Earthwork, complete in place for the lump sum price	\$38,830.00 \$ 38,830.00
11.	LS	1	Remove Existing Concrete Wall and Foundation, complete in place for the lump sum price	\$107,600.00\$107,600.00

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
12.	ĻF	96	Property Fence Removal and Replacement, complete in place for the unit price per lineal foot	\$ 191.67	\$ 18,400.00
13.	LF	675	Soundwall, Footing and Cast-in-Drilled Holes Piles, complete in place for the unit price per lineal foot	\$ 760.00	\$ 513,000.00
14.	CY	50	Structural Backfill, complete in place for the unit price per cubic yard	\$470.40	\$ 23,520.00
15.	LS	1	As-Built Redlined Plans, complete in place for the lump sum price	\$1,500.00	\$ 1,500.00
			TOTAL BID PRICE	\$ 808.0	000

TOTAL BID PRICE: Eight hundred and eight thousand
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Cowan and Thompson Construction
Company Name Printed

#### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. Hamilton Tree Service Inc.	699865	1000044188	4444 Pacheco Blud. Martinez, CA 94553	Tree and strongs removal 5%
2.				,
3.				
4.				
5.		- F		*
6.		*		
7.		,		
8.				
9.	*	-		
10.				
11.				
12.		9		
13.				
14.				
15.				. ,